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2 (int B)

# 3 ;; <- AT
- : int = 3 <- A
# (3+4) x2/ 3 ;;

- : int = 4

+ (IN&E). - CR&E). * (FE). / (A). mod (RD)
E# (float BY)

# 3.14 x. 2. +. 10.0 ;;
- : float = 16.28

o (INE). -.(RE). *.(RE). /.(RE). »(ER)




X745 (string BY)

# IIHiII ; ;
- : string = "Hi"
# "Hello " = "World!" ;;

- : string = "Hello World!"

ERE (bool B)

# true ;;

- : bool = true
# false ;;

- : bool = false
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# 3.14 + 5 ;;
Error: This expression has type float
but an expression was expected of type int
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THREBIE int AEULW =3 + 5 REET D
THRERIE float TIELW = 3.14 +. 5. REET 3




: (let X)
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let Z# = =
'K, OERITHERIC "EH EWSEEIZDIT S,

# let pi = 3.1415 ;;
val pi : float = 3.1415
# pi x. 2. ;;

- : float = 6.283
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EHDEE (U< let )

let BAE 5120 ... = =X
B8 .10 =2 TE-7125 TR, 254895 T
ZEET Do

# let square x = X *. X ;; - square(x) = x°
val square : float -> float = <fun>
# square pi ;; -+ square(pi)

- : float = 9.86902225

# let kyori x y = sqrt (square x +. square y);;
o kyori(z,y) = /22 + 12

val kyori : float -> float -> float = <fun>

# kyori 3.0 4.0 ;; -+ kyori(3.0,4.0)

- : float = 5.
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# let kyori x y = sqrt (square x +. square y);;
val kyori : float -> float -> float = <fun>
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E Y2

¥ (int ), 3 + - * / mod

R (float B), 3.14 +. -, *. /. *x
XF5 (string BY), "Good " ~ "morning!"
BB (bool BY), true false
BlFEIRICXAIE N5,

ZTH, let pi = 3.14

m %, let square x = x *. x

m DB, float -> float
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